flux

AP/ 1.270

A? / 1.280

200

100

400

200

Fe2 + Continuum Fit

oy 55.6 klm/s ey 10.26 +/T 1?5 km/ls

T T T T T T T T T T T — T

Xomin / 4569 = 1.270

Rest A (&)

Fe2 Scale Factor X2 Diagnosis

o, 556 km/s 0.03966(102) szin / 4569 = 1.270
T T I ~ I T T T 7 L T 77 L T T
rm092 RMS 39.4 |
I MAD 33.5 |
Z By Z
L /] _
L L L | L L L L | L L L | L L L L | L L L L | L L L
0.02 0.03 0.04 0.05 0.06
Fe2 scale factor
Fe2 Velocity Dispersion X2 Diagnosis
oy, 115 1190 prior 225 km/s 127(155) szin / 4569 = 1.270
T I T I T I T I T I T I T I T
- rmQg2 RMS 126 1
MAD 92.1
L | L
0 200 400 600 800 1000 1200 1400

Fe2 Dispersion (km/s)



